Sound Multiple Choice

Q1.
It which of the following frequency ranges Is ultrasound found?
A tHz~-1kHz
B 2kHz-10kHz
C 1ikHz-20kHz
D 2ikHz-30KHz
Q2.

A trumpat and & Tute are played by two sludents. The note from the frumpet ie Jouder and has a
lewer pitch than the note from the: flute.

Herar dio the amplifude and frequeney of the sound from the fumpst cempars ts thie amplitude and
freguency fram the flute? 7 \ ;
frumpef's ampiiuds trumpet’s frequency /
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Q3.

The diagram shows a foudspeaker that is producing & continuaiss sound wave of frequency
Z00Hz In air.

loudspeaker
DJ P

Which diagram best shows how the :mund causes a malecule at P fo move during EDE}
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Q4.

A boy sfrikes a righd metal fence with 2 stick to create a sound along the fence. A girk listens with
her ear against the fence. One second affer the fence Is struck, the gitd hears a sound through the
alr

Vil LB % | T
| | ls - | gitl

stick

How fong will i take for the solind t6 reach the girl through the fence?
A U second

B less than t second >

C 1 sgeond

racre tharr 1 second

=

Qs.

A girl, standing 150 m in fant of & fall building, fires a shot using @ startieg platol. A boy, slanding
350 m from the giFl, hears fve bangs 15 apart

350

From this information, what is the speed of sound in ale?
™

& 300mis B 350mis £ Bi0mis B B850mis
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Q6.

An ultrasonic tape-measure 1s used fo find the distance fo a wall. it sends cut an ulttasonic pulse
and times how long it fzkes for the reflected pulse o refurn from the wall.

The ulfrascund has g frequency, a2 wavelength and a speed. AN
{ = S+4 q
Which palr of vatues i3 neaded to find the distance to the wall? W= meE 51 i€\
ca L e

A frequency and wavelength
B frequency and time taken for the palse to retum
i’f » spead and time taken for the ptise fo returm

I wavelength and time taken for the pulse to raturn

Q7.

The diagrams represent sound waves displayed on an oscilloscope.

Pt rat

reprasants the quictest saund with the highest frequency?

Assuming the controfs of the pseilloscope remain the same for each sound, afikch diagram

Q8.
Wil of the following does not produce a sound wave?
& =z ball ringing under water
B g guniired in a roomt with no echoes
€ ahammer hiting & block of ubbar

rd -

D an explesion in outer space
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Q9.

The disgrams show osciloscope fraces of sounds picked up by microphanes. The oecllioscope
conirels arg set in the same positon for all the fraces.

Which frace shows the sound that s both foud and lovwe-pitched?
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Q10.

A ftash of lightning and the corresponding thunder clap ars detected 65 apart. 1t s caloulatsd that
the lightning strick absout 1800 m away.

Cinwhich assumption is the calculation based?

3 7, Eight reaches us almost instantanecusly, bot sourd travels st 300m/s.
B Lighttravels 30Gm/ g fasier than sound.
& SBound reaches us almost instantanstusty, but light ravels & 300mis.
]

The zound of the thunder was emitied §s after the flash.

Q11.
The diagram shows a student standing 185 m in front of & wall. He claps his hands once.

~ wall
Lt

i -
185 m

¥

How long after the handclap does ha hear the echo?
[The speed of sound inairiz 3230 m/a]

A 025s B {.50s < 108 r 20s



Q12.

A battery-operated bell is surroundsd by & box with double walls.

air
S -

!,' ali = box walls

©

The bell s ringlng but no sound af all i= beard outside the box,

_L—gep

Wikiat [x in the gap?

A 3 solid

B aliguid

C agas

B & vacuum.’ >

Q13.

In a fest, a car horn is found to be too loud ard the pitch of the note s oo high. What information
deos thig give aboeul the amplitude and the frequency of the sowrd wave produced?

darnplitude frequancy

A oo targes < toa larges
B Too largs tos smal
G too small oo larga
D too smalf too smal

Ql14.

Soands are made by viirating objects. A ceftain object vibrates but a person nearby samnol hear
any sound.

Whinh statement might explain why nothing (s heard?
A The amplitude of the sound waves is too large.

B The frequency of the vibration is too high. .

C  The sound waves ars fransverse.
8]

The speed of the sound waves is too high.



Q15.
Four sound waves W, X, Y and Z are displayed by an osdilloscope screen. The oscilloscope
setiings are the same in sach case.
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Which two sounds hasve the same pitch?

A WandX

B Wand¥

C Xandy

G XandZ
Q16.

A boy Iz stranded en an istand 500 m from the shore.

He shouts for help, but 2 he can haar In reply is the acha of his shout from some cliffs.

Sound travela at 340m/= twough the gk

What is the e Tterval betwesn the boy shouting and hearing the echa?

500 25500 . 540 2% 340
A gt B Tam ¥ % we® P Tmw C



Q17.

An enginezer standing at P hears the scund of an explosion at X.

B L
\
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After the explosion, she hears fve bangs. One bang is beard a fraction of a2 second affer the
gther.

The second bang is an echo from

A XY

B By

o WX

Q18.
To estimate the width of a valley, a climber starfs 2 stopwaich as he shouts. He bears an scho
from the opposite side of the valley afiter .05,

clirber !

The sound travels at 340 mis
What is the width of the vallay?
A 85m _ B 17om ¢ 240m D 680m
Q19.
Which equation can be usad to caleulaie the speed of scund?

A spead= distanne
' ' iesle:

B gpeed = distancs x tine

tirme

€ speed = gemancs

0 speed = fime +distance



020.
A starting pistol Is fired 840 m away from a spectator.

840m

W ' spactator

The spectator hears the sound of the starting plstol two seconds after seeing the flash from the
Hur.

,
¥

Vihat is the epeed of sound in air? &
A 180mis (B 20mis, © 640mis D 1280m/s

Q21. R
Music is produced by the loudspeaker of a radio.

Which prapetty of the sound wave increases when the music is made lotder?
A amplfude -

B frequehey

O wavelength

Q22.

A bat is flying near & house. [t makes a high-pitched sound. | hears the echo .55 later The
spesd of sound In alr ks 200 mfs.

How far swsy Is the house from the bat?
A E0Om B 3S08m ¢ 150m i 75m
Q23
Which word correctly complefes the senfenas Rilow?
An echo is & scund wave whick s . ........... by 8 large ohstadle.
A absorbed
B dizpemed
G reflected
o

refacied



24.
Two students stand 600 n apart.

siudent with studant with
glarfing-pisiol Blopwalch

&

nat to seale

Thay find that it takes 2 seconds for the sound frem the starting pistol to travel from one student to
tha other

From thasa resulis, what is the speed of spund it air?

A 50mk B 800mi ) ¢ 600me D 1200mis

Q25.

In an experimert to measure the speed of scund, a student uses a sfopwalch to find how lorig a
soind fakes fo fravel from X to Y. Shie does this six times.

suurd fravels from Xto Y

X "
The table £hows her results,
time/s
fieat B.E
BBy 07 e,
E‘! third -
| | 7 frrurth 8.4 |
y fifth 55
aixth s

What value for the lime should be used to palttlats the speed of sound?

A Od4ds B 0.5s L 08s B 03s



Q26.

When the horm on & ship s sounded, the passengers hear an echo from a ciff sfter 4.0s.

If the speed of spund is 340 m/{s, how far away is the clili?

A 170m B 340 ‘f; 680 m I 1360m

5
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Q27. .
Which of tha following can be heard by the human ear?

A Awhistle emiting a wave of frequency 50 kHz.

B Ahal emifing a wave of frequency of 20 kHz.

G Aninsect emitiing a wave of 300 Hz.

D A vibrating spring emilting a wave of frequancy of & Hz.
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